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NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %f”ﬁb,j BER BEm  |IBhATET ERBMR REY XK — BERRRRE V- Ge H24.125 | 24.12.07 19 348 54
o |FBE | mem | mms |Eese FRES | mED %k — EBRBELE S Ge | Heai2s | 241207 | 18 332 51
3 %f”ﬁb,j BER BEM  |IBhATET ERBER REY KK — BERRRRE V- Ge H24.125 | 24.12.07 19.1 37 56
o (REE . | mam | mEw |Eom AR | mED %k — EBRBELE S Ge | Heai2s | 241207 | 22 317 60
5 %fﬁb,j BER BEM  |IBhATET ERBR REY KK — BERRRRE V- Ge H24.125 | 24.12.07 22 36.4 58
o |FBE | mem | mEs  |Eese FRES | mED %k — EBRBELE S Ge | Heai25 | 241207 | 208 3 60
7 %fﬁb,j BER BEM  |IBhATET ERBR REY KK — BERERRRE V- Ge H24.125 | 24.12.07 20 335 54
8 %f‘ffp,j BER AEM |IBchATET SERER REY B2 3 — BERREREEVS— Ge H24.125 | 241207 226 39.2 62
9 %fﬁb,j BER BEM  |IBhATET ERBER REY KK — BERRRRE V- Ge H24.125 | 24.12.07 21 34.9 56
10 %f‘ffp,j BER EM |IBchATET SERE R REY B2 3 — BERREREEVS— Ge H24.125 | 241207 189 386 58
11 %fﬁb,j BER HEm  |IBhATET FERBER REY KK — BERRRRE V- Ge H24.125 | 24.12.07 20.4 414 62
12 %f‘gﬁp,j BER EM |IBchATET SERER REY B2 3 — BERREREEVS— Ge H24.125 | 241207 211 412 62
13 %fﬁbd BER FEN = ERBER BEY *H — BERRRRE V- Ge H24.12.7 | 24.12.07 <89 <72 <16
14 %f‘gﬁp,j BER AR |— SERER BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <12 <78 <20
15 %fﬁ),,j BER BlET |~ MBS BEY *H — BERERRE VS Ge H24.12.7 | 24.12.07 <71 <63 <13
16 %f‘gffp,j BER "ET — SERE R BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <96 <87 <18
17 %fﬁbd BER aRET | B BEY 4+A — BERRREEEVS— Ge H24.127 | 24.12.07 <69 <74 <14
18 %f‘ffb,j BER HRET | — SERE R BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <97 <94 <19
19 %fﬁbd BER aRET | — FRER BEN 4+A — BERRREEEVS— Ge H24.127 | 24.12.07 <74 <6.4 <14

20 %f‘ffb,j BER ENET — SERE R BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <98 <83 <18

o (FRE | mem | omm |- FaER | EEn 41 — ERRRRMA L — Ge | H2at27 | 241207 | <87 | <65 | <15

22 %f‘ffb,j BER WaEr  |— SERE R BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <10 <80 <18

23 %fﬁbd rER wWaEr |- FERBER BEY 45 — BERRRREE VS Ge H24.12.7 | 24.12.07 <6.6 <72 <14

24 %fﬁ)p/j =T gad | — SERE R BEY 45 — BERREREEVS— Ge H24.12.7 | 24.12.07 <74 <59 <13

25 %f”ﬁb,j BER RIRET  |— FERER BEN 4+A — BERRREEEVS— Ge H24.127 | 24.12.07 <92 <15 <17

26 %f‘ffp,j BER RIRET  |— B R BEY 4+A — BERREHREEVS— Ge H24.12.7 | 24.12.07 <86 <6.9 <16

27 %f”ﬁb,j BER RWRET  |— FERER BEN 4+A — BERRREEEVS— Ge H24.127 | 24.12.07 <83 <710 <15

28 %f‘ffp,j BER mE |- B R BEY 4+A — BERREREEVS— Ge H24.12.7 | 24.12.07 <83 <86 <17

29 %f”ﬁb,j rER BAM | — ERBEmR BEY *H — BERERRRE TV Ge H24.12.7 | 24.12.07 <72 <59 <13




Ei m B #ER (Ba/ke)

R4 | SR | BT | py i seme) | mes | nroy ®EE . 20, S BN BEE | Gom) | e | 01 | 0ot | ool
%f”ﬁb,j rER RRET | — FERBR BEY B! — BERERRRE TV Ge H24.12.7 | 24.12.07 <85 <82 <17
%f‘ffp,j BEER B |— FEE BEY 47 — ERREERE VI Ge H24.12.7 | 24.12.07 <6.9 <63 <13
R, | wem | zmmrer | FARAS | wEN 4 — e Ge | Heat27 | 241207 | <73 | <15 | <15
%f‘ffp,j BEER B |— FEE BEY 47 — ERREERE VS Ge H24.12.7 | 241207 <57 <62 <12
%f”ﬁ),,j EBR B = FERER BEY B! — BERRREEEVS— Ge H24.127 | 24.12.07 <71 <68 <14
%f‘ffp,j BEER wmIs = FEE BED 47 — ERREERE VS Ge H24.12.7 | 241207 <17 <6.6 <14
R, | wem | zammm | AR | wEN 4 — e Ge | Heai27 | 241207 | <88 | <77 | <17
%f‘ffp,j BEER EEAET |— FEE BED 47 — ERREERE VS Ge H24.12.7 | 241207 <89 <92 <18
R, | mem | mmem | AR | wEN 4 — e Ge | Heai27 | 241207 | <73 | <85 | <16
%f‘ffp,j BEER EEAET |— FEE BED 47 — ERREERE VS Ge H24.12.7 | 241207 <13 <13 <15
R, | mem | mmem | AR | wEN 4 — e Ge | Heai27 | 241207 | <96 | <79 | <18
%f‘ffp,j BEER EEAET |— FEE S BED 47 — EREREERE VS Ge H24.12.7 | 241207 <17 <62 <14
%fﬁ),,j BER BNET |~ FERBER BEY *H — BERERRRE V- Ge H24.12.7 | 24.12.07 <87 <13 <16
%f‘ffp,j BEER BLm |- FEE BED 47 — ERREERE VS Ge H24.12.7 | 24.12.07 <92 <67 <16
%fﬁb,j EBR =&E |- B BEY B! — BERRREEEVS— Ge H24.127 | 24.12.07 <82 <6.1 <14
%f‘ffp,j BEER AT |— FEE BEY 47 — EREREERE VS Ge H24.12.7 | 24.12.07 <84 <13 <16
%fﬁb,j EBR RER |- B BEY B! — BERRREEEVS— Ge H24.127 | 24.12.07 <64 <62 <13
%f‘ffp,j BEER BLm - FEE BEY 47 — ERREERE VS Ge H24.12.7 | 241207 <12 <12 <14
%fﬁb,j BER Mmoo |— B BEN 4+A — BERRRBEEVS— Ge H24.127 | 24.12.07 <82 <88 <17
%f‘gﬁp,j BEER BLm |- FEE BEY 47 — EREREERE VS Ge H24.12.7 | 24.12.07 <19 <16 <16
%fﬁb,j BER Mmoo |— B BEN 4+A — BERRRBEEVS— Ge H24.127 | 24.12.07 <70 <71 <14
%f‘gﬁp,j BEER BLm |- FEE BED 47 — EREREERE VS Ge H24.12.7 | 24.12.07 <96 <14 <17
%fﬁb,j BER Mmoo |— MBS BEN 4+A — BERRERGEVS— Ge H24.127 | 24.12.07 <69 <60 <13




